Al

E 0l &

AR g A A

A ARiE
B A3
Eel: TAISSIAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ar Bt 17,511,762 16,384,929 2,126,833
= 5,988,232
[ 880,000
= 2,181,735
Ea 8,491,7%
CAI=E 883,267 1,051,225 A167,958
= 200,000
= 30,000
o 653,267
CAISEALY 883,267 1,051,225 167,958
= 200,000
= 30,000
Ea 653,267
JRIEEEEZAIMD] 258,768 203,700 55,068
201 er2 3| 29,228 4,160 25,068
01 AtR2te|HI 29,228 4,160 25,068
oUHEHYR =& oAl
9,000 x4 x130! 4,680
oUHEHYR S ARE 150,000« 12& 1,800
oEE= & otUE HIH
500,000 *324 1,500
oMJ| SEHSSF(75L)
1,040 »1000H* 123 1,248
oMIAFEEAAY EHl E
20,000,000 20,000
202 04l 4,640 4,640
01 2LHoIH 4,640 4,640
osNZd AR =X
20,0002 x4 »56 4,640
203 =2l 3,400 3,400
03 A= PR FZ| 3,400 3,400
ofte APPSR =X
850,000 *4=2 7| 3,400
401 Al HIZL S 0HYI 221,500 171,500 50,000
01 Al&HI 220,000 170,000 50,000
oMledel MEMAE SEEH & sX3200M
50,000,000 50,000
oCAE &4 ¥ dEEds |2
130,000,000 130,000
cTAMEZ FAl2cl
16,000,000 *2.5km 40,000
03 Al 20HHI 1,500 1,500 0
o FLZEETAIDMI| 204
1,500,000& 1,500
ZeZ3 xd & 2el 328,949 538,975 /210,026
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SA ARIEH
M CAl=3
2R TAISEANY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 138,945 137,821 1,124
M ORINZZE2NSES 138,945 137,821 1,124
o3 22| oIty
80,2403 x 122 %130 125,175
ozd 2l oA U2 =
125,174,400 *11% 13,770
201 2= 48,804 52,854 A4,050
01 AtR2t2lt] 7,600 10,348 N2,748
oz 422 T AR
500,000 6 2,500
oXxd el A2F 250,000 %122 3,000
oFAI| AS ¥ M
5,0008*10S+122 600
oBEIEA ARE(E FHEA S)
150,000& * 102 1,500
2 35234l 41,204 42,506 1,302
oZ¥ & - 5tE A BE
400,000& *12& 4,800
ozd MRS
100,000& x10JH =% 123 12,000
oETHEY BEaTHE
250,000& =22 500
oZFANEE FAES & 2
2,000,000& *102] 20,000
odotX HA 11,0003 +80E+12] 880
ol=J| € HizaE)| S R
1,680 *150L+ 12 3,024
202 04l 1,200 800 400
01 =LHA LI 1,200 800 400
o=Uoibl 20,0003 x2& »30 1,200
206 M=l 50,000 67,500 A17,500
01 M=4l 50,000 67,500 A17,500
odoiE dad Al 50,0002 100 5,000
o= HZIE HIZ 50,000 »500% 25,000
oZxd £3R ¥ +=F(H0I S)
20,0002 *1,000== 20,000
401 Al HIZ S 0HbI 90,000 280,000 A190,000
01 Al&H| 90,000 280,000 190,000
oZel3d X HEZHHIOSA B2
18,000, 0002 «5I A*13] 90,000
SNEAL(HEAIY) 60,000 0 60,000
< 30,000
[Ea 30,000
401 Al HIZL S 0HYI 60,000 0 60,000
& 30,000
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A ARiEe g
Hu: MEIEERA
Chel: 221 SHcls MES HR X4 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 159,610 188,207 1,403
M ORINZZE2NSES 169,610 188,207 1,403
ox2 U E317 B2l Q1Y)
111,000 «32*280 93,240
oaZ U 3T B2 QAL ANYTEE
93,240,000 *11% 10,257
ox3lE AN U REX
80,2403 7 »90 50,552
X8I AT Y MEXY ANLER
50,551,200& 11% 5,561
201 fet=23y| 25,989 14,853 11,136
01 AtR2te|HI 9,820 9,340 480
TR ADEX Al
9,000 +x3& »160! 4,320
oHRNS HE U B4 R
4,500,000 4,500
o¥E T4 N2sg
100,000 5 & »23] 1,000
02 S3=gHl 16,169 5,513 10,656
oBEY 42D MLE ABZ
800,000& * 122 9,600
cEEY A ML=
400,000&! 123 4,800
oBEU +2/2| 2E0
1,608 *100L* 112 1,769
202 04| 6,000 6,000
01 =LHOHI 6,000 6,000
oXARR Y2 =7
20,0003 x3E 100! 6.000
206 M=l 26,250 26,250
01 MHZH| 26,250 26,250
ool M zetd oK
50,0002 x85H 4,250
o=Z2ACIE HIE 10,0003 #4255 4,250
o2 ADE 1,275,000& %108 12,750
o2l Hi3 5,000& *1,000L 5,000
401 Al HIZ 2018 335,000 335,000
01 Al&H| 320,000 320,000
oBEY 42 U 2315 2| A
200,000,000 200,000
oEZ HollE YA
15,000,000 *42] 60,000
oEEZ MY U= At
15,000,000 *43] 60,000
03 Al 2 HHI 15,000 15,000 0
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500,000

500,000
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150,000
150,000
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SA ARIEH
Hu: MEIEERA
Col MRS A U AQIE JERE (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 500,000
401 AIEHIX 20 1,000,000 0 1,000,000
= 500,000
s 500,000
01 AlZ8| 997,000 0 997,000
=JIZUHEEAE &4 997,000,000 997,000
= 498,500
Ea 498,500
03 Al 2CHYI 3,000 0 3,000
SJIZUHSEAlE &4 20l
3,000,000& 3,000
= 1,500
[Ea 1,500
HH=E 4,746,551 3,827,820 918,731
= 1,494,258
== 836,001
o 2,416,202
LTEA 808,821 364,737 454,084
= 265,116
S 125,766
o 417,939
FHExd 361,236 258,352 102,884
= 141,938
= 41,371
o 177,927
201 eer23y| 12,8% 12,352 544
01 AtR2t2lHI 4,8% 12,352 AT,456
og8 949 27 24|
9,000 x4 x 136! 4,8%
03 A2 Y] 8,000 0 8,000
oMY BA S =W 2|
8,000,000& 8,000
401 AlZHIZ SO 348,340 246,000 102,340
= 141,938
[ 41,371
T 165,031
01 Al&HI 331,340 236,000 95,340
oZHg =4 (5%ha) 4,338,050 *5%ha 255,945
= 128,276
== 38,301
o 89,368
oREFEXZE(1ha) 6,89%5,000& *1ha 6,8%
= 4,5%
== 690
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2A:
X XH -
o e

=aak

. SHA(3H) - MRALY

- HyS

Ofl &F2H

HMEE
Ofl &k2h

0
A
=
02
o
I
e

0

O ou
>

ve
0x
4J

e
0R0
1

o
=5

0 S
oY 0¥ og

>
o
A
0x
0y
o
==

03 A2 CHYI

oZdHNE T4 20l

1,000,000& *50ha

18,500,000&

14,000,000

3,000,000

H

H H W

H H W

1,609
50,000
18,500
14,000
14,000

7,466

1,960

4,574

3,000

3,000

1,600

420
980

7,000

3,000

7,000

HH W

208,417
19,108
50,174

139,135

96,385

112,032

401 AIZHIZL 20

HoH W

208,417
19,108
50,174

139,135

96,385

112,032

=

0
rl
c
40
FA
o

84,723,000

114,825,000

8,869,000

MW

Mo W

Mo W

199,548
84,723
17,314
18,017
49,392

114,825
679
29,831
84,315
8,869
8,869
1,115
2,326
5,428

94,385

2,000

105,163

6,869

A H

10,000
3,000
7,000

10,000

401 AIZHIZL 20

A

10,000
3,000
7,000

10,000

01 A&l

10,000

10,000
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2A:

Mo pase
ol ZEAY (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S ENEPS
1,000,000 *10ha 10,000
= 3,000
Ea 7,000
KNS SetEE 229,168 0 229,168
= 104,070
= 31,221
[Ea 93.877
401 AIEHIX R0 229,168 0 229,168
= 104,070
S 31,221
= 93,877
01 Al&HI 223,668 0 223,668
o XIS E35 X8 (10ha) 20,264,000& *10ha 202,640
= 101,320
[ 30,3%
T 70,924
oYX (1ha) 21,028,000& *1ha 21,028
02 Zeltl 4,000 0 4,000
oXSssxd 2el(11ha)
4,000,000& 4,000
= 2,000
= 600
o 1,400
03 Al S THYI 1,500 0 1,500
oNHSsixe XA 20|
1,500,000& 1,500
= 750
= 225
Ea 525
ZIHRIIAE 2,455,784 2,558,928 103,144
= 1,229,142
= 361,212
Ea 865,430
=02l 2,171,702 2,100,306 71,3%
= 1,085,851
= 325,755
= 760,096
201 er2&| 25,000 25,000 0
= 12,500
< 3,750
= 8,750
01 At22t2lt] 20,000 20,000 0
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A ARiEe
Hu: poisel
Chelr =IRIIAIY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o= IRI| A2 el EHl Xz
20,000,000& 20,000
= 10,000
[ 3,000
2 7,000
2 BZ2ZH| 5,000 5,000 0
oNBATE WIRS
500,000 %102 5,000
= 2,500
S 750
= 1,750
401 AlEHIZ S 0HbI 1,224,686 2,075,306 850,620
= 612,343
< 183,703
s 428,640
01 Al&H| 1,088,686 1,865,306 NT76,620
o0& LHRIHRI(70ha)
1,735,6802 #70ha 121,498
= 60,749
< 18,225
T 42,524
o 2 XIZHI91(330ha)
1,491,7392%330ha 492,274
= 246,137
& 73,841
= 172,296
o X Z XY 2R (320ha)
1,484, 1062 *320ha 474,914
= 237,457
= 71,237
= 166,220
02 Zeltl 130,000 200,000 70,000
o= A Z2l(720na)
130,000,000 130,000
= 65,000
= 19,500
o 45,500
03 AlZ = THHI 6,000 10,000 24,000
o=IHII A S0l 6,000,000 6,000
= 3,000
= 900
o 2,100
402 2I2FX=01& 922,016 0 922,016
= 461,008
= 138,302
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SA ARIEH
Hu: poisel
Chelr =IRIIAIY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 322,706
03 2IZ+AEAIZHI 922,016 0 922,016
oA 0125=It01(170ha)
3,796,000& *170ha 645,320
= 322,660
= 96,798
Ea 225,862
o 2UREIHII(73na)
3,790,356 *73ha 276,696
= 138,348
= 41,504
o 96,844
ORI E SA=IHRI] 135,600 311,881 176,281
= 67,800
= 13,560
[Ea 54,240
401 AIEHIX R0 135,600 311,881 176,281
= 67,800
= 13,560
= 54,240
01 Al&H| 123,100 286,881 163,781
S0IMSXIMZ SA=IHRI1(50na)
2,462,000& *50ha 123,100
= 61,550
= 12,310
= 49,240
02 Zaltl 11,000 22,000 211,000
SOIMHAINZ Szt
11,000,000& 11,000
= 5,500
= 1,100
[Ea 4,400
03 Al = THHI 1,500 3,000 21,500
SOIMHAINZ Szt
1,500,000& 1,500
= 750
= 150
Ea 600
ARl MEIAY R &E S0 148,482 146,741 1,741
= 75,491
= 21,897
Ea 51,094
101 @12A4H| 126,500 124,759 1,741
= 64,500




2A:

Mo pase
CHRl: =IHRIIALY (SH9 H2)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
= 18,600
= 43,400
M IItHZ2E2SEs 126,500 124,759 1,741
oI RIINHAZAIL 2H(1H)
24,800,000&x1H 24,800
= 12,400
= 3,720
o 8,680
o= IIRI|I N XZAIE WEHI(1Y)
500,000&x1H 500
= 500
CHINPIIEES 2 (4)
24,800,000 x4H 99,200
= 49,600
= 14,880
o 34,720
o=IIRI| HEE NSH (4F)
500,000 x4H 2,000
= 2,000
201 L2 | 21,982 21,982 0
= 10,991
= 3,297
i 7,69
01 ArR222ltl 17,982 17,982 0
CHIPIINATAE 2
500,000&*x1H 500
= 250
= 75
= 175
o=JIPIIIHEE 25
4,370,5002*4Z 17,482
= 8,741
= 2,622
i 6,119
02 E324H| 4,000 4,000 0
o=JIIIIHEE 295
1,000,000 x4 4,000
= 2,000
= 600
= 1,400
AR A ALS 1,356,946 914,155 442,791
& 249,113
i 1,107,833
g Y 22y T4z 739,020 737,229 1,791
101 @l24H| 178,133 176,692 1,441
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A ARiEe
Hu: poisel
el AR ZLEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORIMZZ2NSE S 178,133 176,692 1,441
otz+FHIE 24 (7E)
80, 24021 +724x2502 140,420
ootR4alY (1Y)
80,2402 x1H =250 20,060
cAUEEE 160,480,000 *11% 17,653
201 er2 3| 15,167 14,817 350
01 At2tltl 2,950 2,600 350
otz 2ol AYs
300,000 x22H*13] 600
ozl HoREe ¢
70,0002 +5%H 350
oJtZa=2te| HLHE 100,000 *20H 2,000
02 35244l 12,217 12,217 0
clizs & #5224 =FU
1,739&%3,0002| & 5,217
otz | = 400,000 * 107K 4,000
oAME2 21 MRS
300,000 *10E 3,000
202 04| 2,720 2,720
01 SLHoIH 2,720 2,720
otz g =&
20,0003 *12H*136 2,720
206 M=l 40,000 40,000
01 M=4l 40,000 40,000
otz FXl2el N
5,000& 2, 00004 10,000
oJtz 4 dollEs LM A
60,0002 x500& 30,000
401 Al HIZL 048I 503,000 503,000
01 Al&HI 500,000 500,000
oJtz4 2cl & FHIA
10,0002 +30,000== 300,000
ootd# S &Y 2l H FHIAY
10,000& %20,000%= 200,000
03 Al 20HHI 3,000 3,000 0
olizs & 2t 4R =4
3,000,000& 3,000
UR2d T4 (HEAY) 15,000 15,000 0
= 12,000
Ea 3,000
401 AlZHIZ 01| 15,000 15,000 0
=S 12,000
s 3,000
01 AlZ28| 15,000 15,000 0
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2A:

Mo pase
el AR ZLEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
olLtR2HA 15,000,000 15,000
= 12,000
= 3,000
LB E3 23018 715 20,000 20,000 0
=S 6,000
s 14,000
401 AIEHIZ SR THYI 20,000 20,000 0
< 6,000
[Ea 14,000
01 Al&HI 20,000 20,000 0
SMBEL BaB BRI P
10,000, 0003 *221 20,000
= 6,000
= 14,000
CA=XI2e3 (HMEAY) 22,226 22,226 0
= 11,113
o 11,113
101 21AH| 22,226 22,226 0
== 11,113
o 11,113
04 JIZtN2Z2 S8+ 22,226 22,226 0
o AlsA2e|d Y
22,226,000&*1 22,226
= 11,113
= 11,113
SrEH B G A= 22,200 22,200
201 Zet=3hl 7,200 7,200
02 S3=gl 7,200 7,200
olRIAANE o 2BRD
600 *12,000H 7,200
401 AIEHIZ R HYI 15,000 15,000
01 Al&H| 15,000 15,000
o&E 2|2 2B (60ha)
15,000,000& 15,000
f23 B2 A= 3,500 2,500 1,000
201 er2 3| 1,500 500 1,000
01 AtR2telHl 1,500 500 1,000
olictE R=3t 882 & 25|
500,000 *32 1,500
206 M=l 2,000 2,000
01 M= HI 2,000 2,000
o223 B= 100,000 +20H 2,000
&R 2] 10,000 10,000 0
401 Al HIZL 01| 10,000 10,000 0




SA ARIEH
Hu: poisel
Chelr MEAREEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 10,000 10,000 0
oARE 2 10,000,000& 10,000
dds 28 |A2c 45,000 45,000
401 AlZHIZ S 0HbI 45,000 45,000
01 A28l 45,000 45,000
o¥ds Zag 2 45,000,000 45,000
A ol A= MA 40,000 40,000
401 AIEHIZ SR OHYI 40,000 40,000
01 Al&HI 40,000 40,000
oMEMTH T LAS MAHAIS
500,000 »80== 40,000
N2 (HEAY) 300,000 0 300,000
= 150,000
[Ea 150,000
401 A& HIX R0 300,000 0 300,000
= 150,000
o 150,000
01 A28l 298,000 0 298,000
oLZ2H Itz X4
149,000,000 *2km 298,000
< 149,000
[Ea 149,000
03 Al CHYI 2,000 0 2,000
oEZ2 JjRe TN =X
2,000,000 %14 2,000
= 1,000
Ea 1,000
Sgdets TH(HEAY) 140,000 0 140,000
== 70,000
[Ea 70,000
401 AIEHIZ R HYI 140,000 0 140,000
< 70,000
= 70,000
01 Al&H| 140,000 0 140,000
osgdasE X4 (tha)
140,000, 0002 *1ha 140,000
= 70,000
Ea 70,000
SMHolE g4zt 125,000 0 125,000
== 100,000
o 25,000
SMHESSHEE ZL(HEALY) 125,000 0 125,000
[ 100,000




A AR

Mo pase
&el: SMolE 243t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 25,000
401 AIEHIX 20 125,000 0 125,000
=S 100,000
s 25,000
01 AlZ8| 125,000 0 125,000
oSMESMEEEE JI2 & 2AEH S
A 125,000,000 125,000
< 100,000
s 25,000
A THoH 2 X 7,857,384 5,410,912 2,446,472
= 3,176,097
= 630,000
[ 1,186,789
T 2,864,498
AHABHI RS 5,3%,292 3,549,172 1,847,120
= 2,118,945
[ 630,000
= 870,177
o 1,777,170
GHEES g2 =4 79,790 107,290 A27,500
201 fer23y| 50,910 71,130 N20,220
01 Al 221 b 42,820 63,040 £20,220
SUMRBENY AL 8, MA
10,000,000& 10,000
ottgEs E2E M
100, 0002 ¥807H A 8,000
oAZ2TE oM S 7
160,000 %100 16,000
oNEES HRFA SA
9,0002 *42§*1002 3,600
olZHINRR 29 34|
90002 4% 1452 5,220
° BZ2ZH| 8,090 8,090 0
CAELIAASN T2
50,0003 *4JH A+ 128 2,400
SUYRS BHAAY SH2
130,000 * 134 1,690
obtE Yt IIE ML=
500,000 «8& 4,000
202 04l 2,880 2,160 720
01 =LHA LI 2,880 2,160 720
oNEESs HREX
20,0002 x4 »36 2,880
401 Al HIZ R 0HbI 26,000 34,000 /8,000
01 AlZ28| 26,000 34,000 28,000




A ARiEe )
S Ao X
e AEEE|E Ry (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oft=0e X TSEHI(RHE) |22
2,000,000 * 13CH 26,000
SAE(H2HE) 900,000 900,000 0
[ 630,000
= 54,000
s 216,000
401 Al HIZ 01| 900,000 900,000 0
= 630,000
[ 54,000
T 216,000
01 Al&HI 870,000 860,000 10,000
o T Al (2+H2km) 870,000,000 870,000
= 609,000
== 52,200
o 208,800
02 Zeltl 20,000 27,000 /7,000
oY A4 Zeld] 20,000,000 20,000
= 14,000
== 1,200
o 4,800
03 Al 20HHI 10,000 13,000 /3,000
oJTAlE AIZR20HHI 10,000,000 10,000
= 7,000
== 600
[Ea 2,400
LT AIE (MBI T ) (HEAIY) 161,428 161,428 0
= 117,843
= 43,585
101 @124H| 27,000 27,000 0
= 19,710
Ea 7,290
04 JIZtNZ22 NS+ 27,000 27,000 0
oyae|d 13,500,000 x2&H 27,000
=S 19,710
s 7,290
201 2= 1,571 1,571 0
< 1,147
s 424
01 At2teltl 1,571 1,571 0
oL 2 1,571,000& 1,571
= 1,147
o 424
401 AIEHIX 20HH 132,857 132,857 0




SA ARIEH
S Ao X
e AEEE|E Ry (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 96,986
s 35,871
01 Al&H| 116,157 116,157 0
oA 116,157,000 116,157
= 84,795
o 31,362
02 Zeltl 6,700 6,700 0
oYTAE 2L 6,700,000 6,700
s 4,891
s 1,809
03 A& S CHYI 10,000 10,000 0
oPTAIEAIY F& 10,000,000 10,000
S 7,300
= 2,700
a2 & 2 187,400 207,400 A20,000
401 AIEHIX R0 187,400 207,400 /20,000
01 A28l 174,400 194,400 /20,000
odEEa & FAlZ
2,180,000 +80km 174,400
02 2/l 10,000 10,000 0
o2 Y FA2A2(FE)
10,000,000 10,000
03 Al&ECHY| 3,000 3,000 0
cYTEA o RV £
3,000,000 3,000
AEMHAERD-EZ HME X SAHH EALY) 22,700 22,700 0
== 11,350
o 11,350
101 e124d| 21,700 21,700 0
[ 10,850
T 10,850
M ORNZZ2NSE S 21,700 21,700 0
o=d ST A 21,700,000 *1& 21,700
= 10,850
= 10,850
201 eer23| 1,000 1,000 0
= 500
o 500
01 AtR2te|H] 1,000 1,000 0
o=USMIEMN 29 1,000,000 1,000
== 500
[ 500
=L XE2AC|-YER SAZ FHI(HEAIY) 290,000 290,000 0
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SA ARIEH
TE: NETHLK
&2l AEFEI|E RS (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 145,000
s 145,000
401 Al HIZL 01| 290,000 290,000 0
= 145,000
= 145,000
01 Al&H| 265,000 265,000 0
ocdEA S4&Z YA
265,000,000 265,000
=S 132,500
s 132,500
02 2/l 20,000 20,000 0
oSUZ FHIAMY ZelEY
20,000,000 20,000
= 10,000
= 10,000
03 AIZ2THYI 5,000 5,000 0
oMBR SHZ FHIAY XX
5,000,000 5,000
s 2,500
s 2,500
Stz =8 i 232,000 232,000 0
201 Ler23 | 20,000 0 20,000
01 At22t2lt] 20,000 0 20,000
RN MM B 2122 M
20,000,000& 20,000
401 A& HIX R0 212,000 232,000 A20,000
01 A28l 200,000 220,000 /20,000
oS4&Z ZHI71(85.3km) 100,000,000 100,000
oSHE AMEEs 100,000,000 100,000
02 2/l 10,000 10,000 0
oS4tz ZHiD| 2l 10,000,000 10,000
03 Al 2CHYI 2,000 2,000 0
oSME AlEEA U2 EA
2,000,000& 2,000
ArZ AL 2,946,609 1,254,824 1,691,785
= 2,062,642
= 441,984
o 441,983
401 AIEHIX SO 2,946,609 1,254,824 1,691,785
= 2,062,642
& 441,984
= 441,983
01 Al&H| 2,858,609 1,201,824 1,656,785
o HFEMAY 180,514,500 *4km 722,058
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S ARIES D
M AR THOH &K
ol A EAEGI|BEA (St &)
K- B8 S(31) - MISAY - BES Ofl by G o MimE=EY
= 505,440
= 108,309
= 108,309
o AP EH AL 250,000,000 *30H A~ 750,000
= 525,000
= 112,500
o 112,500
opte AL AIA
1,096,225,000& * 10 2~ 1,096,225
= 767,374
= 164,426
= 164,425
o AHEEALS] QI Z2HE A (IHA)
1,614,000& 1,614
= 1,130
c 242
= 242
o AMRSEH OFM XICH
50,000,000 *2JH 2~ 100,000
= 70,000
= 15,000
= 15,000
OAEH HAUEA 2,178,000& x40 2~ 8,712
= 6,098
< 1,307
= 1,307
o AIZEHUR| (=)
7,000,000 & *6IH 2~ 42,000
= 29,400
= 6,300
= 6,300
o AP A EOFE R X|
38,000,000& * 100 2~ 38,000
= 26,600
o= 5,700
= 5,700
SYNR== I PSEAPN|
50,000,000 & *2JH 2~ 100,000
= 70,000
= 15,000
= 15,000
02 2eldl 80,000 50,000 30,000
o AFZHAIE 22l
10,000,000 *50H A~ 50,000
= 35,000
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A ARiEe )
3 MHTHoH
Rl MEFEIIBEY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 7,500
s 7,500
ot R 2ACIAY ZelES
30,000,000 30,000
= 21,000
S 4,500
= 4,500
03 A2 THYI 8,000 3,000 5,000
SANZAIE =& 3,000,000 3,000
= 2,100
S 450
= 450
oM IAZUCIAIY ALY
5,000,000& 5,000
= 3,500
= 750
= 750
SRALER LIGHAI S+ 85,000 125,000 40,000
401 AIZHIX R0 85,000 125,000 40,000
01 AlZ2H| 70,000 110,000 240,000
o APALEY TIOHAl S7AMY
10,000,000 *6H 2 60,000
o METHMHILITHKI ZAHS R, AHAEH S)
1,000,000 1000 2 10,000
02 Zeltl 10,000 10,000 0
FALER TISHXI SAM (2el)
10,000,000 10,000
03 AlZ = THHI 5,000 5,000 0
S AALEN TIOHAI S7AMY
5,000,000 5,000
AHALER R4 X1 A AL 23,800 32,900 29,100
= 11,900
= 11,900
401 Al HIZ 2018 23,800 32,900 29,100
= 11,900
Ea 11,900
01 AlZH| 23,800 32,900 29,100
S LALEY AKX AEHZAL
700,000 349K 2= 23,800
= 11,900
s 11,900
AR EIAIE 140,857 185,060 N44,503
101 @124H| 61,457 60,960 497
M ORIMZZ2NSE S 61,457 60,960 497
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SA ARIEH
TE: NETHLK
&2l AEFEI|E RS (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 100,000
401 AIEHIX 20 200,000 0 200,000
=S 100,000
s 100,000
01 AlZ8| 175,000 0 175,000
oROt=MEd TdA
175,000,000 * 11 2 175,000
< 87,500
s 87,500
02 Zeltl 23,000 0 23,000
oROt=MERE =4 23,000,000& 23,000
= 11,500
[Ea 11,500
03 A2 = THHI 2,000 0 2,000
oR0lEHEY TAEAY EX
2,000,000& 2,000
< 1,000
= 1,000
=04 A5=29Y 64,000 0 64,000
= 16,000
Ea 48,000
307 el2to| & 64,000 0 64,000
= 16,000
o 48,000
05 glt?(& = 64,000 0 64,000
o=of&It SR 32,000,000& 32,000
= 16,000
[Ea 16,000
oEMN&I A2 (XHA)
32,000,000 32,000
otz | AS=2Y 32,000 0 32,000
= 16,000
o 16,000
307 @120l & 32,000 0 32,000
= 16,000
o 16,000
05 2IR”tRIE = 32,000 0 32,000
oR0tz ASW= 32,000,000 32,000
= 16,000
= 16,000
SAENEES 2,461,092 1,861,740 599,352
= 1,067,152
[ 316,612
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2A:

ArE B
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 1,087,328
AETHSH Xl (A SN S Z LN E) B & 103,856 127,593 N23,737
= 51,928
= 15,579
= 36,349
101 @124H| 92,856 116,593 N23,737
= 46,428
< 13,929
s 32,49
M ORIMZZ2NSE S 92,85 116,593 N23,737
SOZYRNE QIAHI(58)
18,571,200& x6H 92,856
= 46,428
< 13,929
= 32,49
201 Ler23| 11,000 11,000 0
= 5,500
[ 1,650
T 3,850
01 At2t2lt] 6,000 6,000 0
oHELNE 28 =3 6,000,000& 6,000
= 3,000
== 900
o 2,100
2 35244l 5,000 5,000 0
SOIEYRE 29 SEY)
5,000,000& 5,000
= 2,500
& 750
Ea 1,750
SrETHGH Xt EDI(AE X201 &I SHTH) 633,841 623,940 9,901
= 253,536
< 76,061
[Ea 304,244
101 e124d| 610,327 600,426 9,901
= 244,131
=S 73,239
s 292,957
04 JIZtN2 2N S 2+ 610,327 600,426 9,901
SHEMB0LESNH(38Y)
14,443,2102 +38Y 548,842
= 219,537
= 65,861
o 263,444

8




of
i’
oF
uJ

(@) (e} o (@) (@) (@) (@)
no
Klo
E
F=)
s & o) S 8 8 S
Ye) Al [ep] N~ [ee) (ee) (@)
% > < % S s s
LH3r &
LiEd
RIS
B IFE S S KT8 Y B|S L8 82X EUEBIEFT BB/ INIBS8SXI8S LSS TS
N oo &S oAy F o 8§66 §N0LoOIRKCAleN® - 6~NNKQG= 5
xQ w0 LN © — ~NMm OO NN — |3 D M~ NN O < — (aV] < © D[ O M »H©|W < — —_— o < AN ©o
g ©w gy W S cle @ g = ©glx 0 =
al
<
=3
oo oo oo oo oo oo o om o m o
[ 0 i [ B0 m
S 8 3 3 = 2
or & W 3 = o o
| o ] = 5 g g
J @ )
: : 3 :
ol
< Il
I | I
=z |0 oF o
N n Ik
= |3 & u O
= |= = R -
0} 0} — n0 _
8 |= ) o < = z
B 0 o o 20 i D
I = = = 5 K = =0 - E=R RO Ee)
. _i j 30 ) _% 30 % ¥ 30 oo ] 30
= |K R 0H Al 0H T R O Al oK K. O
R |w I 5] o W o I = 5! g W o) o
RV 1< < oll < < o < = ol < < ~ £
- |o 0 - ~ 0 o 0 10 — -~ 0 0 N
I+ <

_494_



SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EETENETEREIEES
2,000,000 *3CH 6,000
= 2,400
[ 1,080
T 2,520
202 04l 3,450 3,450 0
= 1,380
& 620
Ea 1,450
01 SLHoIH 3,450 3,450 0
oftEdSHESH 25,0002 »138H 3,450
= 1,380
== 620
o 1,450
308 XXM SOIA 193,720 193,720
07 AX L= 193,720 193,720
obt=dEoly WE & EIt
396,000 +63] 2,376
oMEEIIYRE 191,344,0002 191,344
401 AlZHIZ SO 11,700 11,700 0
= 4,680
= 2,106
Ea 4,914
01 AlZH| 11,700 11,700 0
SMERAZ R AN
11,700,000& 11,700
= 4,680
= 2,106
o 4,914
A EEXICH (K= ) 253,110 4,420 248,690
= 101,244
= 45,559
o 106,307
201 er2 3| 5,330 4,420 910
= 2,132
& 959
= 2,239
02 S5=2g4l 5,330 4,420 910
CASMEZMAIAY SAZ(34U)
5,330,000& 5,330
= 2,132
< 959
= 2,239
401 AlEHIZ R0 247,780 0 247,780
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2A:
T ZH -
o e

Sk

pllpliva
0N U gu
HxE
on =

PO
HI 02 &

SA - BE - SRA(SIH) - IRAY -

By

Ofl &F2H

HMEE
Ofl &k2h

HoH W

99,112
44,600
104,068

01 AIZHI

opMEASAIE &X

o

0
> 0
o
-
o
=
x
nx
"

fcldl

obtEASAIE X AIE20HI

234,780,000

10,000,000

3,000,000&

Mo W MW

HoH W

234,780
234,780
93,912
42,260
98,608
10,000

10,000
4,000
1,800
4,200
3,000

3,000
1,200

540
1,260

234,780

10,000

3,000

M H

74,146
37,073
37,073

74,146

101 e124d|

M H

74,146
37,073
37,073

74,146

10,8402 382 %180

M

74,146

74,146
37,073
37,073

74,146

HoH W

87,086
51,381
13,063
22,642

103,009

N~ 15,923

401 Al HIZ R 0HbI

MW

87,086
51,381
13,063
22,642

103,009

N15,923

01 AlZHI

oSAUEAX LY LIS AH25a)

1,937,000& *25ha

hoH

76,086

48,425
28,571
7,264

92,009

N~ 15,923
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SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,590
oYU LILEAH20h)
927,100 *20ha 18,542
= 10,940
S 2,781
o 4,821
o & =Lt+2H(10na) 173,800& *10ha 1,738
= 1,025
= 261
o 452
= J|EHE 6l = (40ha) 184,525& *40ha 7,381
= 4,355
= 1,107
o 1,919
02 2/l 10,000 10,000 0
o EtHN S 10,000,000& 10,000
= 5,900
= 1,500
o 2,600
03 Al 20HHI 1,000 1,000 0
oBtHNSEN = 1,000,000& 1,000
= 590
= 150
o 260
MHeEg 2l 759,887 459,026 300,861
= 536,629
= 68,369
Ea 154,889
301 EetE2 NS 150,000 0 150,000
= 105,000
= 13,500
= 31,500
14 DBt 2 a=S 150,000 0 150,000
crTNE(L2FHIDI)
5,000, 000& *30ha 150,000
= 105,000
= 13,500
= 31,500
401 AIEHIX R0 609,887 459,026 150,861
= 431,629
= 54,869
= 123,389
01 Al&H| 577,886 436,026 141,860
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2A:

AHEEER
T NATEHLK
ool AENEES (el mg)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Il DAFS MIAH 82,6403 »2,0002 165,280
= 115,553
== 14,919
[Ea 34,808
oHEHMZ LA 1,034,000& *50ha 51,700
= 30,522
== 7,75
[Ea 13,423
cEZH2IS 7 (2,002)
112,019,000& 112,019
= 78,373
< 10,083
Ea 23,553
o= AEHA 163,372,000 163,372
= 114,029
< 14,802
[Ea 34,541
oM LR A 2,850,500 +30ha 85,515
= 70,750
== 4,420
[Ea 10,345
02 Zeltl 30,001 20,000 10,001
oM&EE YHMA 30,001,000& 30,001
= 21,002
S 2,700
[Ea 6,299
03 Al 20HHI 2,000 3,000 21,000
oMaEE LHMAIY A
2,000,000 2,000
= 1,400
< 180
T 420
ALRF 0ISHS 95,280 46,900 48,380
= 47,640
[ 14,292
T 33,348
101 @124H| 82,280 35,900 46,380
= 41,140
s 12,342
s 28,798
04 JIZtN2Z2 X SE+ 82,280 35,900 46,380
oALISFOISHEEE Q1248 (4Y)
20,570,000 x4 82,280
= 41,140
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SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 12,342
s 28,798
201 Ler=23 | 13,000 11,000 2,000
= 6,500
< 1,950
= 4,550
01 At2t2ltl 10,000 10,000 0
o0lsHs 24 10,000,000 10,000
= 5,000
== 1,500
[Ea 3,500
2 352484l 3,000 1,000 2,000
o0lSHEE K= 3,000,000& 3,000
= 1,500
== 450
[Ea 1,050
2s+ il 203,180 170,000 33,180
= 39,960
= 163,220
401 AIEHIZ SO 203,180 170,000 33,180
= 39,960
Ea 163,220
01 AlZH| 200,180 167,000 33,180
oPs4 S FHaZEIHI
50,000,000 50,000
oEss MIRI|s SEAMY
3,900,000 x30%= 117,000
S 29,250
= 87,750
oS OtMae| AEHZA
563,000 x60== 33,180
=S 9,960
s 23,220
03 Al 20HHI 3,000 3,000 0
oEs4 d=)|s UMY A
3,000,000& 3,000
= 750
= 2,250
& HDIE el 20,000 20,000
401 AIZHIX S0HH 20,000 20,000
01 A28l 20,000 20,000
oMHEHIIEXE B9
250,000 x20m* *4 3| 20,000
MEAS 1,739,561 815,669 923,892
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S ARIES D
Hu: pRiAs
Selr MEAS ALY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 2,560 2,560
01 2LHoIH 2,560 2,560
o= UWEH0HI 20,0003 x4 »32 2,560
401 AIEHIX R0 90,000 42,000 48,000
01 A28l 90,000 39,000 51,000
oftEMEOE FAl2tel
30,000,000 *3JH 2 90,000
Bl A5 ZME =4 50,000 85,000 A35,000
402 2I2E X201 & 50,000 85,000 /35,000
01 QI XH2AILE R (KM THE) 50,000 85,000 235,000
SEUIAS Yue NAAR(RS, BN, 4
ST ) 100,000, 000& *50% 50,000
SICIOIAI = KI&AS 182,600 150,000 32,600
201 et23| 13,600 0 13,600
01 At22te|Hl 10,000 0 10,000
oLCIGIXIS KXHASAY =8 A2F
3,000,000 * 10 2= 3,000
oXCIMXIS XHASAIEE RS (&M
Al0otel) 7,000,000 100 2 7,000
2 35244l 3,600 0 3,600
oXMTIMXIS NHESAILE SUS(HI], =
ER3 8) 300,000 * 12 3,600
206 MH=H| 50,000 150,000 100,000
01 M=4l 50,000 150,000 100,000
oXMLIMXIZS NHEetAY SS(0ld=,
M, &HI S) 50,000,000& 50,000
207 AR 19,000 19,000
01 H7ESHI 19,000 19,000
STLINXE 48 L M2l wor 74 89
19,000,000 19,000
401 Al HIZ S 0HbI 100,000 100,000
01 Al&H| 100,000 100,000
o&MLMXNZE HES ANEEY & RFEE A
&t 100,000,000 100,000
28 SAXNTE= At 3,300 2,641 659
= 3,300
201 er2 3| 3,300 2,32 908
= 3,300
01 At2t2lt] 3,300 2,392 908
cgoixzea 95 29 425 1Y
300,000& %110 A 3,300
= 3,300
LASHAD B A 23 AFY 85,320 0 85,320
= 56,880

- 502 -




S ARIES D
M NRIAS
&Rl AEAS A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 11,376
s 17,064
402 QIF X201 & 85,320 0 85,320
= 56,880
== 11,376
[Ea 17,064
02 QI TH2AILEE (01X THE) 85,320 0 85,320
SURSBAATN T LAY 1HXHELY @
&) 142,200,000 «60%2 85,320
= 56,880
== 11,376
o 17,064
SCHIZE a3H XA 42,250 0 42,250
307 elztol & 42,250 42,250
02 LB HAHE L 42,250 42,250
oMCHIE 2oz 42,250,000 x 14 42,250
AH2LZHI(AZEHUD) 73,650 78,493 N4,843
el 2E | 45,109 49,952 N4,843
eIgE3| 45,109 49,952 A4,843
101 e124d| 45,109 49,952 A4,843
01 2= 45,109 49,952 4,843
oS A2 Al
11,6022 x18H18Al 2t 12 45,109
=34 28,541 28,541 0
Jl=23H] 28,541 28,541 0
201 er2 3| 23,381 23,381 0
01 AtR2telHl 22,450 22,450 0
clen=g 4,800
-S4 20,0003 x5+ 128 1,200
NN 15,0003 »20=2+ 123 3,600
oUXNE=AD] EH
250,000 x2CH+53] 2,500
oE=AD| R Zely Y
250,000 x4 CH =43 4,000
oS ALEX 25,0002 x162 A 123 4,800
cdHISF 150& %5, 0000H 750
SAFY I Ml
5,0008 205122 1,200
<J|E AIRES 20,0003 105122 2,400
oS AL =2l 400,000 ~2CH 800
o IZ2IEHI| +cl 300,000 +4CH 1,200
2 35234l 931 931 0
oREeF (L) 4303 *40021 172
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